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HAE ZNAME 29 439,000
p] 176,250
Al 262,750
NAHAE NAME 2 398,000
Il 120,000
Al 278,000

HAE XFMEH 2HXA(XY) 131,500 131,500 0
Il 40,000
Al 91,500

308 XHXISHHI S0 & 131,500 131,500 0
bl 40,000
Al 91,500

01 MIESHHINEES 131,500 131,500 0
22 HAW XAME 29 131,500
J| 40,000
Al 91,500

HAE JHYWES o - X2 X 100,000 0 100,000
Il 60,000
Al 40,000

307 2I2+0| & 100,000 0 100,000
Il 60,000
Al 40,000

05 pI2tgleta 100,000 0 100,000
HAE JEHUES oY - X2 X 100,000
bl 60,000
Al 40,000

HE MK DS L MEAL 2% 351,000 351,000 0
p] 175,500
Al 175,500

307 2I2+0| & 351,000 351,000 0
Il 175,500
Al 175,500

05 pI2tglera 351,000 351,000 0
HAE 4235 ME 29| 351,000
bl 175,500
Al 175,500

HAE Qs Ko 42,000 42,000 0
2 21,000
Al 21,000

308 XHXIEHHI S 01 & 42,000 42,000 0
2 21,000
Al 21,000

01 MIXSHHBMNSED 42,000 42,000 0
HAE SR N 42,000
2 21,000
Al 21,000




SN OlSEAES YR

M HAW AESH L B50lS PH(MHSN/ 0 - HA)
ool HAW BEMHIA s (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
HrW Roey s 47,700 47,700 0
201 Yer2 Y| 2,700 2,700 0
01 A2l 2,700 2,700 0
Had 25 202 HME 1,0002! %2, 7002 2,700
307 QI2H0|H 45,000 45,000 0
05 PIZHSIES 45,000 45,000 0
HAE RHEZ ZAS 2 45,000
CIYOIAl HAE 242 8,800 8,800 0
201 LByl 4,000 4,000 0
01 At 4,000 4,000 0
GIZIAl HAHME EBS  20020%20,0008 4,000
01 LB AZ 4,800 4,800 0
12 JIEE A3 4,800 4,800 0
PIZOIAl Of2i® AW 242 300,000 «16% 4,800
SEXVMY F4E N 106,000 106,000 0
| 74,000
Al 32,000
308 XHXISHH SO & 106,000 106,000 0
| 74,000
Al 32,000
01 RXESHBABES 106,000 106,000 0
SEXVHL BaE NY 106,000
| 74,000
Al 32,000
HoNE HAWE NN 156,000 150,000 6,000
= 109,200
Al 46,800
307 QI2H0|H 156,000 150,000 6,000
= 109,200
Al 46,800
05 PIZteIEr2 156,000 150,000 6,000
FHONE HAW NYNR(ME SSYE) 156,000
= 109,200
Al 46,800
RAHAED SREUI| 25 =& 100,000 100,000 0
307 QI2H0|H 100,000 100,000 0
NEETEES 100,000 100,000 0
THAHAE D snLEUII2s =8 X2 100,000
OFSEXIMHIA X ZaH(AEISX/HAHSK) 54,443, 110 48,513,341 5,929,769
HDSE :OIE - NYAME BS0HS AW 8% X
= 12,009,286
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SA
X{ ZH -
(==l I

=h e

OlEHAUGLD
OIE=TMHIA X8 23H(AEIZX/HAHSTI)
IIHEA OIS=X MHIA =Y

_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
= 5,163,483
Al 37,270,341
IHE=H Ols=X MdlA =] 6,836,881 5,708,034 1,128,847
AUXE 1 SSYEINFE(OEE) NE =
gold = SHEX 22 A
= 2,274,047
= 560,000
Al 4,002,834
2ES OtsX# 740,000 660,000 80,000
308 NHXISHHMSOIE 740,000 660,000 80,000
01 MXEHINELS 740,000 660,000 80,000
28AEIHE - OHE A0S & HEXE
2,000,000 *160& 320,000
A2EAEINE - JHERIE0lS S Hetss=2 A
o 420,000
OLs=ttHollg At 203,799 192,791 11,008
= 75,000
Al 128,799
308 MXIHHSOIH 203,799 192,791 11,008
= 75,000
Al 128,799
01 XM EXS 203,799 192,791 11,008
ots2s d=2J12 29 203,799
= 75,000
Al 128,799
NHEAEESAE 1,729,789 1,807,941 AT78,152
= 405,000
Al 1,324,789
308 NXISHHSOIE 1,729,789 1,807,941 AT78,152
= 405,000
Al 1,324,789
01 MXEHMISELS 1,729,789 1,807,941 NT8,152
HEE XNdE 29 147,589
= 55,000
Al 92,589
HEAE 2 1,582,200
S AEAEINE, fIE0tS XIE
120,000& *1,030H « 128 1,483,200
= 350,000
Al 1,133,200
&8s Ot=s K& 50,0002 x165H «12& 99,000
Z2HI|2 2H 264,640 257,150 7,490
= 80,000
Al 184,640
308 NXIHHSOIH 264,640 257,150 7,490




SN OISHAESSH
HE: OFSZXAMHIA NP 2sH(ASISX/HANSTR)

ool IHBY OFS=A AMUlA 20 (el aR)
_ _ _ Muo
SA-E . S(E) - MEAY - BES 01l &4 24 i SImE=ET
= 80,000
Al 184,640
01 MXEMISELS 264,640 257,150 7,490
2ol 2 264,640
= 80,000
Al 184,640
ZHAS 10,000 10,000 0
307 Q12t0lH 10,000 10,000 0
10 MaISXEX 10,000 10,000 0
ZO0ISTH BRT Y AL X2 10,000
YA A 10,000 0 10,000
307 21201 & 10,000 0 10,000
10 MBISXIEX 10,000 0 10,000
Yo o Y UAF WA FW 10,000
YAz N 229,434 284,471 A55,037
= 160,604
Al 68,830
308 NXISHHSOIE 229,434 284,471 AbB5,037
=2 160,604
Al 68,830
01 XM EXS 229,434 284,471 AbB5,037
gadds N 229,434
= 160,604
Al 68,830
Z0ols 2 2Lz NE 175,280 127,800 47,480
= 122,696
Al 52,584
308 XNXISHHSOIH 175,280 127,800 47,480
= 122,696
Al 52,584
01 XM EXS 175,280 127,800 47,480
Z0Hots g dsE2xX= A& 175,280
= 122,696
Al 52,584
2aots 2s5E N 900,000 462,000 438,000
= 630,000
Al 270,000
308 NXISHHSOIE 900,000 462,000 438,000
= 630,000
Al 270,000
01 XM EEXS 900,000 462,000 438,000
YAOls 2=x+4 NS 900,000
= 630,000
Al 270,000




SA
X{ ZH -
(==l I

=h e

OISHAHTYH

OFSEXIABIA X8 23 (AIBI=X/HAHSK )
NHEL OISEX AHIA S

= W

20,402

SN E S (BH) - MEAY - B Ao e HRS2
ek - JIEREOIS & 26,560 29,170 A2,610
18,592
7,968
308 XXIEXHSO0I& 26,560 29,170 N2,610
= 18,592
Al 7,968
01 AXISHAEAE 26,560 29,170 N2,610
ek DI AR E = Xl 26,560
= 18,592
Al 7,968
S0t 2dors s 72,000 48,000 24,000
308 NAXHMSOIH 72,000 48,000 24,000
01 AXSHMBAE 72,000 48,000 24,000
O} QlokOtE 72,000
A0S MWMEE Dt 33,000 32,000 1,000
307 QIz2to| A 33,000 32,000 1,000
06 23 33,000 32,000 1,000
YAOLS Aol 33,000
RES0ls 185 ¢ ,080, 158 740,302 339,856
= 432,063
Al 648,095
308 XXIEHXSO0IN ,080, 158 740,302 339,856
= 432,063
Al 648,095
01 NXIEHEAS ,080, 158 740,302 339,856
RES Ol 1 85 ,080, 158
= 432,063
Al 648,095
HelolY &AL 40,000 40,000 0
307 212tolA 40,000 40,000 0
10 AISISXIEZ 40,000 40,000 0
oElolY A= 40,000
I8 E0ts Adl2E 68,008 67,674 334
= 47,606
Al 20,402
307 QIz2to| A 68,008 67,674 334
= 47,606
Al 20,402
06 282 68,008 67,674 334
II8/AEOts & = & 68,008
47,606




SN OISHAESSH
HE: OFSZXAMHIA NP 2sH(ASISX/HANSTR)

E©el: JrEEs OlSSX MHIA 2T (ol &d
- _ o AT
FA R CA(EA) - NFAY - BYES Ofl &F <4 Ol & o8 HlunsSZ
obsEeEAH X 1,232,123 910,000 322,123
=2 862,486
Al 369,637
308 XXIEHHMS0IN 1,232,123 910,000 322,123
= 862,486
Al 369,637
01 UHXSHHBL4EES 1,232,123 910,000 322,123
OtsSZEXIAHZ XA 1,232,123
= 862,486
Al 369,637
OlsZEXAAZ 2a2e)2 2R 22,090 21,410 680
308 XtXIEHAISO0IA 22,090 21,410 680
01 XIXSHILEEZ 22,090 21,410 680
OlSLER&A I 29 22,090
X ASl OtS=XAEIA X2 47,606,229 42,805,307 4,800,922
HLXE 1 SYAEHE dE 4 5
goide SHEX 13 HA
= 9,735,239
= 4,603,483
Al 33,267,507
OlS=ERAE 2SR 20,291,436 19,548,679 742,757
= 2,503,483
Al 17,787,953
308 XXIEHHMS0IN 20,291,436 19,548,679 742,757
= 2,503,483
Al 17,787,953
01 UHXHMBLEES 20,291,436 19,548,679 742,757
OhsAlE 29 20,251,436
- AIEE AR 21244 16,152,380
= 1,474,983
Al 14,677,397
A2 2,797,356
= 1,000,000
Al 1,797,356
NEOIS ASEA X2 28,500
= 28,500
MY =X ag 1,273,200
5SS S0l (HBUAL Z8)
200,0002 526 * 122 1,262,400
-5 20/12H('1001% ARTHEX)
150,000 6 «12& 10,800
OISLAIEEL 2% X 40,000
NEES0ts 2AS4 Al X2 633,253 611,799 21,454
308 XtXIEHHS0IN 633,253 611,799 21,454
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SN OISHAESSH
HE: OFS=XAMHIA NP 2sH(ASISX/HANSKR)

S9l: XI2AS] OFSERMEIA X (el ®e)
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
01 RAXESHBARES 633,253 611,799 21,454
AEOLS BHH 221t 20,0002 *1,800% 36,000
ANEOtE BEXE 379,800
ESEM 15,0002 %4302 * 122 77,400
= 20,0008 +510% * 122 122,400
nssty 30,0009 *500% * 12 180,000
ANEOtS 80188t X2 59,125
eSS 85,0002! * 1452 12,325
=.ssty 120,002 *390% 46,800
A0S DEH KN 1,4409 4458 2402 153,792
HOFAIE JIHA X 6,3002! 602 122 4,536
NE2S0S BAKIH 9,000 28,500 219,500
307 ©I2r0I M 9,000 9,000 0
04 BIRbEALE X 9,000 0 9,000
OESXAL 2501E IS X 9,000
SIA0S B FHI 453,000 323,000 130,000
= 100,000
Al 353,000
308 il EHHISOIH 453,000 323,000 130,000
= 100,000
Al 353,000
01 RAXESHBARES 453,000 323,000 130,000
SA0tS XtE HHI 3,000,000% *150% 450,000
= 100,000
Al 350,000
Tee £ Z2iw X 3,000
OlSEXAZ R X8 11,000 11,000 0
201 Yer2y| 10,000 10,000 0
01 At22t2lt| 10,000 10,000 0
OISEXAY BRE Ay S 10,000
203 YRFAY| 1,000 1,000 0
03 AlBEXYREAY| 1,000 1,000 0
OIE=NAY YRFH 1,000
OtS=EXAE JIs2Y 636,414 1,079,245 1442831
= 318,207
Al 318,207
403 XHXISHAIS AHE 01 & 636,414 1,079,245 1 442,831
= 318,207
Al 318,207
01 RXESHIZEE 636,414 1,079,245 1442831
OISENAIL JIs2Y 636,414
= 318,207
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SN
X XH .
S Tt

el

orsdEaggga
OtSSEXIMHIA X2 23HASISX/HAHERE)
KNS Atel OtsS=XAEIA X2

_ _ _ Muo
SA-E . S(E) - MEAY - BES 0 & 24 i SImE=ET
[ Al 318,207
OtsSAlE SZoHedl XI& 34,000 34,000 0
308 MXIHHSOIH 34,000 34,000 0
01 MXEMBHELS 34,000 34,000 0
OFSAlM BN K 34,000
HAsE Otsga K& 10,636,076 8,767,200 1,868,876
&2 2,000,000
Al 8,636,076
308 KHXIEHHMSOIE 10,636,076 8,767,200 1,868,876
2 2,000,000
Al 8,636,076
01 HXHHBLdEES 10,636,076 8,767,200 1,868,876
g2 Ols=24 N& 2,432,065
= 1,000,000
Al 1,432,065
gerE Ots=24 N3 5,457,038
= 1,000,000
Al 4,457,038
£,2,2582 Ots=4 XI# 2,746,973
ANEotsdH 28 K& 9,181,864 7,144,844 2,037,020
= 4,329,932
Al 4,851,932
308 NXISHHSOIE 9,181,864 7,144,844 2,037,020
= 4,329,932
Al 4,851,932
01 MXEHINELS 9,181,864 7,144,844 2,037,020
NSO SHE ST 8,659,864
= 4,329,932
Al 4,329,932
NOLSHEl AR HL ML 522,000
OrtEsdY XYotsdE K& 100,800 100,800 0
308 NXIHHSOIH 100,800 100,800 0
01 MXEHMISELS 100,800 100,800 0
Ot2S(S54) XYotsdH X 100,800
NSA0otsdH MUlA Bt 36,000 0 36,000
= 18,000
Al 18,000
307 GI12t0ld 36,000 0 36,000
= 18,000
Al 18,000
10 At2ISXEX 36,000 0 36,000
XISOLSHEl AHIA 8O} 36,000
= 18,000
Al 18,000

_21_




SN OISHAESSH
HE: OFS=XAMHIA NP 2sH(ASISX/HANSKR)

ol XISIALEl OIS =XIAHIA K& (e e
SA - SR(E) - HRAY - BES 01l &4 24 e HIRE
OFS=X WA X 1,714,286 1,656,240 58,046

=2 1,200,000
Al 514,286
308 XX EHH SO 1,714,286 1,656,240 58,046
=2 1,200,000
Al 514,286
01 NXESHAALES 1,714,286 1,656,240 58,046
OFSEX DA X 1,714,286
2 1,200,000
Al 514,286
NeiOISHE NSRS 29 119,100 115,000 4,100
= 119,100
308 XHXIEHH SO0 119,100 115,000 4,100
=2 119,100
01 KXSHAALES 119,100 115,000 4,100
TSiOISHE NSRS 29 119,100
= 119,100
SYAEIEAY 3,750,000 3,375,000 375,000
= 3,750,000
308 XHXIEHH SO0 3,750,000 3,375,000 375,000
= 3,750,000
01 HXSHIAEES 3,750,000 3,375,000 375,000
SYABE AY 3,750,000
= 3,750,000
HHSAZH(OFSHAH LG D) (JIEHIIEH 105,832 92,832 13,000
ol 105,832 92,832 13,000
1| 105,832 92,832 13,000
201 Yere | 33,288 33,288 0
01 AFR22/H| 33,288 33,288 0
SN2YIIE ~8H| 15,900
JlEgRss 32| 7,388
202 01t 55,344 55,344 0
01 =UHoIHl 55,344 55,344 0
Y SH 0 38,640
29| EX0IH| 16,704
203 YR FAY| 4,200 4,200 0
04 2ASHYRETY] 4,200 4,200 0
e RSk 3500008 * 122 4,200
405 XkorE S| 13,000 0 13,000
01 KL S EF S| 13,000 0 13,000
AR B 13,000,000 *1CH 13,000
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T PNEE

=]

RS0t

D UHRANAKE

J(AFSIS X/ =0l -

)

L RE-E

- SHRI(BIAH) - NRALS -

0x
i

el

[
2

20
B
2

Hegs(otsgdad sX/eel - 3Aad) 202,000 202,000
Il 1,000
Al 201,000

LHEHHXI = 202,000 202,000
Il 1,000
Al 201,000

WRHHKIE 202,000 202,000
p) 1,000
Al 201,000

309 ME= 2,000 2,000
p) 1,000
Al 1,000

02 SA- 3 2,000 2,000
ade A4 293 2,000
p) 1,000
Al 1,000

702 JI=dES 200,000 200,000

01 JI=sd&E=2 200,000 200,000
FAEFHE)Is HES 200,000
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